



VICTORIA UNIVERSITY
MELBOURNE AUSTRALIA

The Unified Treatment of Trapezoid, Simpson and Ostrowski Type Inequality for Monotonic Mappings and Applications

This is the Published version of the following publication

Dragomir, Sever S, Pecaric, Josep and Wang, Song (1998) The Unified Treatment of Trapezoid, Simpson and Ostrowski Type Inequality for Monotonic Mappings and Applications. RGMIA research report collection, 2 (4).

The publisher's official version can be found at

Note that access to this version may require subscription.

Downloaded from VU Research Repository <https://vuir.vu.edu.au/17230/>

**THE UNIFIED TREATMENT OF TRAPEZOID, SIMPSON AND
OSTROWSKI TYPE INEQUALITY FOR MONOTONIC
MAPPINGS AND APPLICATIONS**

S.S. DRAGOMIR, J. PEČARIĆ, AND S. WANG

ABSTRACT. We give new trapezoid inequality as well as Simpson and Ostrowski type inequalities for monotonic functions. We provide their applications in Probability Theory, Numerical Analysis and for Special Means.

1. INTRODUCTION

In [1], S.S. Dragomir established the following Ostrowski's type inequality for monotonic mappings.

Theorem 1. *Let $f : [a, b] \rightarrow R$ be a monotonic nondecreasing mapping on $[a, b]$. Then for all $x \in [a, b]$, we have the inequality:*

$$\begin{aligned}
 (1.1) \quad & \left| f(x) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
 & \leq \frac{1}{b-a} \left\{ [2x - (a+b)] f(x) + \int_a^b \operatorname{sgn}(t-x) f(t) dt \right\} \\
 & \leq \frac{1}{b-a} [(x-a)(f(x) - f(a)) + (b-x)(f(b) - f(x))] \\
 & \leq \left[\frac{1}{2} + \frac{|x - \frac{a+b}{2}|}{b-a} \right] (f(b) - f(a)).
 \end{aligned}$$

All the inequalities in (1.1) are sharp and the constant $\frac{1}{2}$ is the best possible one.

In the present paper we shall obtain a generalization of this result which also contains trapezoid and Simpson type inequalities. For recent results in these topics see the papers [4]-[13].

2. MAIN RESULT

We shall start with the following result:

Date: November 18, 1998.

1991 Mathematics Subject Classification. Primary 26D16, 26D99, Secondary 41A55.

Key words and phrases. Trapezoid Inequality, Cumulative Distribution Function, Quadrature Formulae, Special Means.

Thanks for DSTO TSS funding support.

Theorem 2. Let $f : [a, b] \rightarrow R$ be a monotonic nondecreasing mapping on $[a, b]$ and $t_1, t_2, t_3 \in (a, b)$ be such that $t_1 < t_2 < t_3$. Then

$$\begin{aligned}
(2.1) \quad & \left| \int_a^b f(x)dx - [(t_1 - a)f(a) + (b - t_3)f(b) + (t_3 - t_1)f(t_2)] \right| \\
& \leq (b - t_3)f(b) + (2t_2 - t_1 - t_3)f(t_2) - (t_1 - a)f(a) + \int_a^b T(x)f(x)dx \\
& \leq (b - t_3)(f(b) - f(t_3)) + (t_3 - t_2)(f(t_3) - f(t_2)) \\
& \quad + (t_2 - t_1)(f(t_2) - f(t_1)) + (t_1 - a)(f(t_1) - f(t_2)) \\
& \leq \max \{t_1 - a, t_2 - t_1, t_3 - t_2, b - t_3\} (f(b) - f(a))
\end{aligned}$$

where

$$T(x) = \begin{cases} \operatorname{sgn}(t_1 - x), & \text{for } x \in [a, t_2] \\ \operatorname{sgn}(t_3 - x), & \text{for } x \in [t_2, b] \end{cases}.$$

Proof. Using integration by parts formula for Riemann-Stieltjes integral, we have

$$\int_a^b s(x)df(x) = (t_1 - a)f(a) + (b - t_3)f(b) + (t_3 - t_1)f(t_2) - \int_a^b f(x)d(x)$$

where

$$s(x) = \begin{cases} x - t_1, & x \in [a, t_2] \\ x - t_3, & x \in [t_2, b] \end{cases}.$$

Indeed,

$$\begin{aligned}
\int_a^b s(x)df(x) &= \int_a^{t_2} (x - t_1)df(x) + \int_{t_2}^b (x - t_3)df(x) \\
&= (x - t_1)f(x)|_a^{t_2} + (x - t_3)f(x)|_{t_2}^b - \int_a^b f(x)d(x) \\
&= (t_1 - a)f(a) + (b - t_3)f(b) + (t_3 - t_1)f(t_2) - \int_a^b f(x)dx.
\end{aligned}$$

Assume that $A_n : a = x_0^{(n)} < x_1^{(n)} < \dots < x_{n-1}^{(n)} < x_n^{(n)} = b$ is a sequence of divisions with $\nu(A_n) \rightarrow 0$ as $n \rightarrow \infty$, where $\nu(A_n) := \max_{i=0, \dots, n-1} (x_{i+1}^{(n)} - x_i^{(n)})$ and $\xi_i^{(n)} \in [x_i^{(n)}, x_{i+1}^{(n)}]$. If $p : [a, b] \rightarrow R$ is a continuous mapping on $[a, b]$ and v is

monotonic nondecreasing on $[a, b]$, then

$$\begin{aligned}
(2.2) \quad & \left| \int_a^b p(x) dv(x) \right| \\
&= \left| \lim_{\nu(A_n) \rightarrow \infty} \sum_{i=0}^{n-1} p(\xi_i^{(n)}) \left[v(x_{i+1}^{(n)}) - v(x_i^{(n)}) \right] \right| \\
&\leq \lim_{\nu(A_n) \rightarrow \infty} \sum_{i=0}^{n-1} \left| p(\xi_i^{(n)}) \right| \left| v(x_{i+1}^{(n)}) - v(x_i^{(n)}) \right| \\
&= \lim_{\nu(A_n) \rightarrow \infty} \sum_{i=0}^{n-1} \left| p(\xi_i^{(n)}) \right| \left(v(x_{i+1}^{(n)}) - v(x_i^{(n)}) \right) = \int_a^b |p(x)| dv(x).
\end{aligned}$$

Applying the inequality (2.2) for $p(x) = s(x)$ and $v(x) = f(x)$, $x \in [a, b]$ we can state:

$$\begin{aligned}
& \left| \int_a^b s(x) df(x) \right| \\
&\leq \int_a^b |s(x)| df(x) \\
&= \int_a^{t_1} (t_1 - x) df(x) + \int_{t_1}^{t_2} (x - t_1) df(x) + \int_{t_2}^{t_3} (t_3 - x) df(x) + \int_{t_3}^b (x - t_3) df(x) \\
&= (t_1 - x)f(x) \Big|_a^{t_1} + \int_a^{t_1} f(x) dx + (x - t_1)f(x) \Big|_{t_1}^{t_2} - \int_{t_1}^{t_2} f(x) dx + \\
&+ (t_3 - x)f(x) \Big|_{t_2}^{t_3} + \int_{t_2}^{t_3} f(x) dx + (x - t_3)f(x) \Big|_{t_3}^b + \int_{t_3}^b f(x) dx \\
&= -(t_1 - a)f(a) + (t_2 - t_1)f(t_2) - (t_3 - t_2)f(t_2) \\
&+ (b - t_3)f(b) + \int_a^b T(x)f(x) dx.
\end{aligned}$$

what is the first inequality in (2.1).

If $f : [a, b] \rightarrow \mathbb{R}$ is monotonic nondecreasing in $[a, b]$, we can also state that

$$\begin{aligned}
\int_a^{t_1} f(x) dx &\leq f(t_1)(t_1 - a), & \int_{t_1}^{t_2} f(x) dx &\geq f(t_2)(t_2 - t_1), \\
\int_{t_2}^{t_3} f(x) dx &\leq f(t_3)(t_3 - t_2), & \int_{t_3}^b f(x) dx &\geq f(t_3)(b - t_3).
\end{aligned}$$

So,

$$\begin{aligned}
& \int_a^b T(x)f(x)dx \\
= & \int_a^{t_1} f(x)dx - \int_{t_1}^{t_2} f(x)dx + \int_{t_2}^{t_3} f(x)dx - \int_{t_3}^b f(x)dx \\
\leq & f(t_1)(t_1 - a) - f(t_2)(t_2 - t_1) + f(t_3)(t_3 - t_2) - f(t_3)(b - t_3).
\end{aligned}$$

We have

$$\begin{aligned}
& -(t_1 - a)f(a) + (t_2 - t_1)f(t_2) - (t_3 - t_2)f(t_2) \\
& -(b - t_3)f(b) + \int_a^b T(x)f(x)dx \\
\leq & -(t_1 - a)f(a) + (t_2 - t_1)f(t_2) - (t_3 - t_2)f(t_2) + (b - t_3)f(b) \\
& + (t_1 - a)f(t_1) - (t_2 - t_1)f(t_1) + (t_3 - t_2)f(t_3) - (b - t_3)f(t_3) \\
= & (t_1 - a)(f(t_1) - f(a)) + (t_2 - t_1)(f(t_2) - f(t_1)) \\
& + (t_3 - t_2)(f(t_3) - f(t_2)) + (b - t_3)(f(b) - f(t_3)) \\
\leq & \max\{t_1 - a, t_2 - t_1, t_3 - t_2, b - t_3\}(f(b) - f(a)),
\end{aligned}$$

and the theorem is thus proved. ■

Remark 1. For $t_1 = 0$, $t_2 = x$, $t_3 = b$ we get Theorem 1 from the above Theorem.

For $t_1 = t_2 = t_3 = x$, Theorem 2 becomes:

Corollary 1. Let f be defined as in Theorem 2. Then

$$\begin{aligned}
(2.3) \quad & \left| \int_a^b f(t)dt - [(x - a)f(a) + (b - x)f(b)] \right| \\
& \leq (b - x)f(b) - (x - a)f(a) + \int_a^b \operatorname{sgn}(x - t)f(t)dt \\
& \leq (b - x)(f(b) - f(x)) + (x - a)(f(x) - f(a)) \\
& \leq \left[\frac{1}{2}(b - a) + \left| x - \frac{a + b}{2} \right| \right] (f(b) - f(a)).
\end{aligned}$$

All the inequalities in (2.3) are sharp and the constant $\frac{1}{2}$ is the best possible one.

Proof. We only need to prove that the constant $\frac{1}{2}$ is the best possible one. Choose the mapping $f_0 : [a, b] \rightarrow R$ given by

$$f_0(x) = \begin{cases} 0, & \text{if } x \in [a, t]; \\ 1, & \text{if } x = b. \end{cases}$$

Then, f_0 is monotonic nondecreasing on $[a, b]$, and for $x = a$ we have

$$\begin{aligned}
& \left| \int_a^b f(t)dt - [(x-a)f(a) + (b-x)f(b)] \right| \\
&= (b-x)f(b) - (x-a)f(a) + \int_a^b \operatorname{sgn}(t-x)f(t)dt \\
&= (b-x)(f(b) - f(x)) + (x-a)(f(x) - f(a)) \\
&= (b-a) \\
&\leq \left[C(b-a) + \left| x - \frac{a+b}{2} \right| \right] (f(b) - f(a)) \\
&= \left(C + \frac{1}{2} \right) (b-a)
\end{aligned}$$

which prove the sharpness of the first two inequalities and the fact that C shouldn't be less than $\frac{1}{2}$. ■

For $x = \frac{a+b}{2}$ we get trapezoid inequality.

Corollary 2. Let $f : [a, b] \rightarrow R$ be a monotonic nondecreasing mapping on $[a, b]$. Then

$$\begin{aligned}
(2.4) \quad & \left| \int_a^b f(t)dt - \frac{f(a) + f(b)}{2}(b-a) \right| \\
&\leq \frac{1}{2}(b-a)(f(b) - f(a)) - \int_a^b \operatorname{sgn} \left(t - \frac{a+b}{2} \right) f(t)dt \\
&\leq \frac{1}{2}(b-a)(f(b) - f(a)).
\end{aligned}$$

The constant factor $\frac{1}{2}$ is the best in both inequalities.

Corollary 3. Let f be as in Theorem 2 and $p, q \in R_+$ with $p > q$. Then

$$\begin{aligned}
& \left| \int_a^b f(x)dx - \frac{q}{p+q}(b-a) \left[f(a) + f(b) + \frac{p-q}{q} f \left(\frac{a+b}{2} \right) \right] \right| \\
&\leq \frac{q}{p+q}(b-a)(f(b) - f(a)) + \int_a^b T_1(x)f(x)dx \\
&\leq \frac{q}{p+q}(b-a)(f(b) - f(a)) \\
&\quad + \frac{p-3q}{2(p+q)}(b-a) \left[f \left(\frac{pb+qa}{p+q} \right) - f \left(\frac{pa+qb}{p+q} \right) \right] \\
&\leq \max \left\{ q, \frac{p-q}{2} \right\} \frac{b-a}{p+q} (f(b) - f(a))
\end{aligned}$$

where

$$T_1(x) = \begin{cases} \operatorname{sgn}\left(\frac{pa+qb}{p+q} - x\right), & x \in [a, \frac{a+b}{2}] \\ \operatorname{sgn}\left(\frac{pb+qa}{p+q} - x\right), & \text{if } x \in (\frac{a+b}{2}, b] \end{cases}.$$

Proof. Set in Theorem 2: $t_1 = \frac{pa+qb}{p+q}$, $t_2 = \frac{a+b}{2}$, $t_3 = \frac{qa+pb}{p+q}$. ■

Remark 2. Of special interest is the case $p = 5$ and $q = 1$ where we get from Corollary 3 the following result of Simpson type;

$$\begin{aligned} & \left| \int_a^b f(x)dx - \frac{1}{3}(b-a) \left[\frac{f(a)+f(b)}{2} + 2f\left(\frac{a+b}{2}\right) \right] \right| \\ & \leq \frac{b-a}{6}(f(b)-f(a)) + \int_a^b T_2(x)f(x)dx \\ & \leq \frac{b-a}{6} \left[f(b) - f(a) + f\left(\frac{5b+a}{6}\right) - f\left(\frac{5a+b}{6}\right) \right] \\ & \leq \frac{1}{3}(b-a)(f(b)-f(a)), \end{aligned}$$

where

$$T_2(x) = \begin{cases} \operatorname{sgn}\left(\frac{5a+b}{3} - x\right), & x \in [a, \frac{a+b}{2}] \\ \operatorname{sgn}\left(\frac{a+5b}{3} - x\right), & x \in (\frac{a+b}{2}, b]. \end{cases}$$

Remark 3. For $p \rightarrow q$ we get Corollary 2 from Corollary 3.

Remark 4. For some related results see [3].

3. AN INEQUALITY FOR CUMULATIVE DISTRIBUTION FUNCTION

Let X be a random variable taking values in the finite interval $[a, b]$, with cumulative distributions function $F(X) = \Pr(X \leq x)$.

The following result from [2] can be obtained from Theorem 1 and from Theorem 2.

Theorem 3. Let X and F be as above. Then we have the inequalities

$$\begin{aligned} (3.1) \quad & \left| \Pr(X \leq x) - \frac{b - E(x)}{b - a} \right| \\ & \leq \frac{1}{b-a} \left[[2x - (a+b)] \Pr(X \leq x) + \int_a^b \operatorname{sgn}(t-x) F(t)dt \right] \\ & \leq \frac{1}{b-a} [(b-x) \Pr(X \geq x) + (x-a) \Pr(X \leq x)] \\ & \leq \frac{1}{2} + \frac{|x - \frac{a+b}{2}|}{b-a}, \end{aligned}$$

for all $x \in [a, b]$.

All the inequalities in (3.1) are sharp and the constant $\frac{1}{2}$ is the best possible.

Now we shall prove the following result.

Theorem 4. *Let X and F be as above. Then we have the inequalities*

$$\begin{aligned}
 (3.2) \quad |E(X) - x| &\leq b - x + \int_a^b \operatorname{sgn}(x - t) F(t) dt \\
 &\leq (b - x) \Pr(X \geq x) + (x - a) \Pr(X \leq x) \\
 &\leq \frac{b - a}{2} + \left| x - \frac{a + b}{2} \right|
 \end{aligned}$$

for all $x \in [a, b]$.

All the inequalities in (3.2) are sharp and the constant $\frac{1}{2}$ is the best possible.

Proof. Apply Corollary 1 for the monotonic nondecreasing mapping $f(t) := F(t)$, $t \in [a, b]$ to get

$$\begin{aligned}
 (3.3) \quad &\left| \int_a^b F(t) dt - [(x - a)F(a) + (b - x)F(b)] \right| \\
 &\leq (b - x)F(b) + (x - a)F(a) + \int_a^b \operatorname{sgn}(x - t) F(t) dt \\
 &\leq (b - x)(F(b) - F(x)) + (x - a)(F(x) - F(a)) \\
 &\leq \left[\frac{1}{2}(b - a) + \left| x - \frac{a + b}{2} \right| \right] (F(b) - F(a))
 \end{aligned}$$

and as

$$F(a) = 0, F(b) = 1$$

by integration by parts formula for Riemann-Stieltjes integral, we have

$$\begin{aligned}
 E(X) &= \int_a^b t dF(t) = tF(t) \Big|_a^b - \int_a^b F(t) dt \\
 &= bF(b) - aF(a) - \int_a^b F(t) dt \\
 &= b - \int_a^b F(t) dt
 \end{aligned}$$

i.e.,

$$\int_a^b F(t) dt = b - E(X).$$

The inequalities (3.3) give the desired estimation (3.2). ■

Corollary 4. *Let X be a random variable taking values in the finite interval $[a, b]$, with cumulative distribution function $F(x) = \Pr(X \leq x)$ and the expectation $E(X)$. Then we have the inequality*

$$\left| E(X) - \frac{a+b}{2} \right| \leq \frac{1}{2}(b-a) - \int_a^b \operatorname{sgn}\left(t - \frac{a+b}{2}\right) F(t) dt \leq \frac{1}{2}(b-a).$$

The factor constant $\frac{1}{2}$ is the best in both inequalities.

4. APPLICATION FOR QUADRATURE FORMULAE

By using our Corollary 3 we can give a general result for Simpson's type of quadrature formula. Moreover, we shall give applications of Corollary 2, i.e., the corresponding result for classical trapezoidal rule.

Let $I_n : a = x_0 < x_1 < \dots < x_{n-1} < x_n = b$ be a partitioning of the interval $[a, b]$, put $h_i := x_{i+1} - x_i$ ($i = 0, \dots, n-1$) and $\nu(h) := \max\{h_i | i = 0, \dots, n-1\}$ the norm of the division. Define the trapezoid formula associated with the division I_n and with a mapping $f : [a, b] \rightarrow R$

$$T_n(f, I_n) := \sum_{i=0}^{n-1} \frac{f(x_i) + f(x_{i+1})}{2} \cdot h_i.$$

The following theorem contains an evaluation of the remainder in Trapezoid rule.

Theorem 5. *Let $f : [a, b] \rightarrow R$ be a monotonic nondecreasing mapping on $[a, b]$. Then*

$$\int_a^b f(t) dt = T_n(f, I_n) + R_n(f, I_n)$$

where $T_n(f, I_n)$ is the trapezoid formula and the remainder $R_n(f, I_n)$ satisfies the estimation

$$\begin{aligned} (4.1) \quad |R_n(f, I_n)| &\leq \frac{1}{2} \sum_{i=0}^{n-1} (f(x_{i+1}) + f(x_i)) h_i - \int_a^b K_n(f, I_n, t) f(t) dt \\ &\leq \frac{1}{2} \sum_{i=0}^{n-1} (f(x_{i+1}) + f(x_i)) h_i \\ &\leq \frac{\nu(h)}{2} (f(b) - f(a)) \end{aligned}$$

where

$$K_n(f, I_n, t) := \begin{cases} \operatorname{sgn}\left(t - \frac{a+x_1}{2}\right) & \text{if } t \in [a, x_1) \\ \operatorname{sgn}\left(t - \frac{x_1+x_2}{2}\right) & \text{if } t \in [x_1, x_2) \\ \dots\dots\dots \\ \operatorname{sgn}\left(t - \frac{x_{n-2}+x_{n-1}}{2}\right) & \text{if } t \in [x_{n-2}, x_{n-1}) \\ \operatorname{sgn}\left(t - \frac{x_{n-1}+b}{2}\right) & \text{if } t \in [x_{n-1}, b]. \end{cases}$$

Proof. Write the inequality (2.4) on the intervals $[x_i, x_{i+1}]$ to get

$$(4.2) \quad \left| \int_{x_i}^{x_{i+1}} f(t) dt - \frac{f(x_i) + f(x_{i+1})}{2} h_i \right| \\ \leq \frac{1}{2} h_i (f(x_{i+1}) + f(x_i)) - \int_{x_i}^{x_{i+1}} \operatorname{sgn} \left(t - \frac{x_i + x_{i+1}}{2} \right) f(t) dt \\ \leq \frac{1}{2} h_i (f(x_{i+1}) + f(x_i)),$$

for all $i \in \{0, \dots, n-1\}$.

Summing over i from 0 to $n-1$ and using the generalized triangle inequality, we get the first two inequalities in (4.1).

The last inequality is obvious, observing that

$$\sum_{i=0}^{n-1} (f(x_{i+1}) - f(x_i)) h_i = \nu(h) \sum_{i=0}^{n-1} (f(x_{i+1}) - f(x_i)) \\ = \nu(h) (f(b) - f(a)).$$

Hence, the theorem is proved. ■

Corollary 5. Let f be as above and I_n are equidistant partitioning of $[a, b]$, i.e., $I_n : x_i = a + i \cdot \frac{b-a}{n}$, $i = 0, \dots, n$. Then

$$\int_a^b f(t) dt = T_n(f) + R_n(f)$$

where

$$T_n(f) = \frac{b-a}{2n} \sum_{i=0}^{n-1} \left[f \left(a + i \cdot \frac{b-a}{n} \right) + f \left(a + (i-1) \cdot \frac{b-a}{n} \right) \right].$$

The remainder satisfies the estimation.

$$|R_n(f)| \leq \frac{b-a}{2n} (f(b) - f(a)) - \int_a^b K_n(f, t) f(t) dt \leq \frac{b-a}{2n} (f(b) - f(a))$$

where

$$K_n(f, t) := \begin{cases} \operatorname{sgn} \left(t - \frac{(2n-1)a+b}{2n} \right) & \text{if } t \in \left[a, \frac{(n-1)a+b}{n} \right] \\ \dots\dots\dots \\ \operatorname{sgn} \left(t - \frac{a+(2n-1)b}{2n} \right) & \text{if } t \in \left(\frac{a+(n-1)b}{n}, b \right] \end{cases}$$

5. APPLICATION FOR SPECIAL MEANS

As in Section 4 we shall give application of Corollary 3. It is clear that similar applies from of the other results from Section 2.

Let us recall the following means

1. *The arithmetic mean*

$$A = A(a, b) := \frac{a+b}{2}, a, b \geq 0;$$

2. *The geometric mean*

$$G = G(a, b) := \sqrt{ab}, a, b \geq 0;$$

3. *The harmonic mean*

$$H = H(a, b) := \frac{2}{\frac{1}{a} + \frac{1}{b}}, a, b \geq 0;$$

4. *The logarithmic mean*

$$L = L(a, b) := \begin{cases} a & \text{if } a = b \\ \frac{b-a}{\ln b - \ln a} & \text{if } a \neq b \end{cases}, a, b \geq 0;$$

5. *The identric mean*

$$I = I(a, b) := \begin{cases} a & \text{if } a = b \\ \frac{1}{e} \left(\frac{b^b}{a^a} \right)^{\frac{1}{b-a}} & \text{if } a \neq b \end{cases}, a, b \geq 0;$$

6. *The p -logarithmic mean*

$$L_p = L_p(a, b) := \begin{cases} a & \text{if } a = b \\ \left[\frac{b^{p-1} - a^{p-1}}{(p-1)(b-a)} \right]^{\frac{1}{p}} & \text{if } a \neq b, \end{cases}$$

where $p \in \mathbb{R} \setminus \{-1, 0\}$ and $a, b > 0$.

The following simple relationships are known in the literature

$$H \leq G \leq L \leq I \leq A.$$

It is also known that L_p is monotonically increasing over $p \in \mathbb{R}$ with $L_0 := I$ and $L_{-1} := L$.

We are going to use inequality (2.4) in the following equivalent version:

$$(5.1) \quad \left| \frac{1}{b-a} \int_a^b f(t) dt - \frac{f(a) + f(b)}{2} \right| \\ \leq \frac{1}{2} (f(b) - f(a)) - \frac{1}{b-a} \int_a^b \operatorname{sgn} \left(t - \frac{a+b}{2} \right) f(t) dt \\ \leq \frac{1}{2} (f(b) - f(a)),$$

where $f : [a, b] \rightarrow \mathbb{R}$ is monotonic nondecreasing on $[a, b]$.

5.1. Mapping $f(x) = x^p$. Consider the mapping $f : [a, b] \subset (0, \infty) \rightarrow \mathbb{R}$, $f(x) = x^p$, $p > 0$. Then

$$\frac{1}{b-a} \int_a^b f(t) dt = L_p^p(a, b); \\ \frac{f(a) + f(b)}{2} = A(a^p, b^p); \\ f(b) - f(a) = p(b-a)L_{p-1}^{p-1}(a, b);$$

$$\begin{aligned}
& -\frac{1}{b-a} \int_a^b \operatorname{sgn} \left(t - \frac{a+b}{2} \right) f(t) dt \\
&= \frac{1}{b-a} \left[\int_a^{\frac{a+b}{2}} f(t) dt - \int_{\frac{a+b}{2}}^b f(t) dt \right] \\
&= \frac{1}{b-a} \left[\int_a^{\frac{a+b}{2}} t^p dt - \int_{\frac{a+b}{2}}^b t^p dt \right] \\
&= \frac{2}{(b-a)(p+1)} [A^{p+1}(a, b) - A(a^{p+1}, b^{p+1})]
\end{aligned}$$

and then, by (5.1), we get

$$\begin{aligned}
(5.2) \quad & |L_p^p(a, b) - A(a^p, b^p)| \\
& \leq \frac{1}{2} p(b-a) L_{p-1}^{p-1}(a, b) + \frac{2}{(b-a)(p+1)} [A^{p+1}(a, b) - A(a^{p+1}, b^{p+1})] \\
& \leq \frac{1}{2} p(b-a) L_{p-1}^{p-1}(a, b).
\end{aligned}$$

5.2. Mapping $f(x) = -\frac{1}{x}$. Consider the mapping $f : [a, b] \subset (0, \infty) \rightarrow R$, $f(x) = -\frac{1}{x}$. Then

$$\begin{aligned}
\frac{1}{b-a} \int_a^b f(t) dt &= -L^{-1}(a, b); \\
\frac{f(a) + f(b)}{2} &= -\frac{A(a, b)}{G^2(a, b)}; \\
f(b) - f(a) &= \frac{b-a}{G^2(a, b)}; \\
-\frac{1}{b-a} \int_a^b \operatorname{sgn} \left(t - \frac{a+b}{2} \right) f(t) dt \\
&= \frac{1}{b-a} \left[-\int_a^{\frac{a+b}{2}} \frac{dt}{t} + \int_{\frac{a+b}{2}}^b \frac{dt}{t} \right] \\
&= \frac{2}{b-a} [\ln G(a, b) - \ln A(a, b)];
\end{aligned}$$

and then, by (5.1), we get

$$\begin{aligned}
\left| \frac{A(a, b)}{G^2(a, b)} - \frac{1}{L(a, b)} \right| &\leq \frac{1}{2} \frac{b-a}{G^2(a, b)} - \frac{2}{b-a} [\ln A(a, b) - \ln G(a, b)] \\
&\leq \frac{1}{2} \frac{b-a}{G^2(a, b)}.
\end{aligned}$$

If we multiply this inequality with $L(a, b)G^2(a, b)$, we get

$$0 \leq AL - G^2 \leq \frac{1}{2}(b-a)L - 2G^2L \cdot \frac{\ln A - \ln G}{A - G} \cdot \frac{A - G}{b - a} \leq \frac{1}{2}(b-a)L.$$

But

$$\frac{\ln A - \ln G}{A - G} = L^{-1}(G, A)$$

and then we get

$$(5.3) \quad 0 \leq AL - G^2 \leq \frac{1}{2}(b-a)L - 2G^2L \cdot \frac{A - G}{b - a} \cdot \frac{1}{L(G, A)} \leq \frac{1}{2}(b-a)L.$$

5.3. Mapping $f(x) = \ln x$. Consider the mapping $f : [a, b] \subset (0, \infty) \rightarrow \mathbb{R}$, $f(x) = \ln x$. Then

$$\begin{aligned} \frac{1}{b-a} \int_a^b f(t) dt &= \ln I(a, b); \\ \frac{f(a) + f(b)}{2} &= \ln G(a, b); \\ f(b) - f(a) &= \frac{b-a}{L(a, b)}; \\ -\frac{1}{b-a} \int_a^b \operatorname{sgn}\left(t + \frac{a+b}{2}\right) f(t) dt \\ &= \frac{1}{b-a} \left[\int_a^{\frac{a+b}{2}} \ln t dt - \frac{1}{b-a} \int_{\frac{a+b}{2}}^b \ln t dt \right] \\ &= \frac{1}{2} \left[\ln I\left(a, \frac{a+b}{2}\right) - \ln I\left(\frac{a+b}{2}, b\right) \right] = \ln \left(\frac{I(a, A)}{I(A, b)} \right)^{\frac{1}{2}}; \end{aligned}$$

and then, by (5.1), we get

$$|\ln I(a, b) - \ln G(a, b)| \leq \frac{1}{2} \frac{b-a}{L(a, b)} + \ln \left(\frac{I(a, A)}{I(A, b)} \right)^{\frac{1}{2}} \leq \frac{1}{2} \frac{b-a}{L(a, b)}$$

from where we deduce

$$(5.4) \quad 1 \leq \frac{I}{G} \leq \left[\frac{I(a, A)}{I(A, b)} \right]^{\frac{1}{2}} \exp \left(\frac{1}{2} \frac{b-a}{L(a, b)} \right) \leq \exp \left[\frac{1}{2} \frac{b-a}{L(a, b)} \right].$$

REFERENCES

- [1] S. S. Dragomir, Ostrowski's inequality for monotonic mappings and applications, *J. KSIAM*, (in press).
- [2] N. S. Barnett and S. S. Dragomir, An inequality of Ostrowski type for cumulative distribution function, *Kyungpook Math. J.*, accepted.
- [3] V. Čuljak, C.E.M. Pearce and J. Pečarić, The unified treatment of some inequalities of Ostrowski and Simpson's type, *submitted*.
- [4] S. S. Dragomir, On Simpson's quadrature formula for mappings of bounded variation and applications, *Tamkang J. of Math.*, (in press).

- [5] S. S. Dragomir, On Simpson's quadrature formula for Lipschitzian mappings and applications, *Soochow J. of Math.*, (*in press*).
- [6] S. S. Dragomir, On Simpson's quadrature formula for differentiable mappings whose derivatives belong to L_p spaces and applications, *J. KSIAM*, **2**(2) (1998), 57-65.
- [7] S. S. Dragomir, R. P. Argarwal and P. Cerone, On Simpson's inequality and applications, *submitted*.
- [8] S. S. Dragomir and S. Wang, An inequality of Ostrowski-Grüss type and its applications to the estimation of error bounds for some special means and to some numerical quadrature rules, *Computers Math. Applic.*, **33** (1997), 15-20.
- [9] S. S. Dragomir and S. Wang, A new inequality of Ostrowski type in L_1 norm and its applications to some special means and to some numerical quadrature rules, *Tamkang J. of Math.*, **29** (1997), 239-244.
- [10] S. S. Dragomir and S. Wang, Applications of Ostrowski inequality to the estimation of error bounds for some special means and some numerical quadrature rules, *Appl. Math. Lett.*, **11** (1998), 105-109.
- [11] S. S. Dragomir and S. Wang, A new inequality of Ostrowski type in L_p -norm, *Italian J. of Math.*, (*in press*).
- [12] S. S. Dragomir, On the trapezoid quadrature formula for mappings of bounded variation and applications, *Extracta Mathematicae*, (*accepted*).
- [13] S. S. Dragomir, On the trapezoid formula for Lipschitzian mappings and applications, *Tamkang J. of Math.*, (*in press*).

DEPARTMENT OF COMPUTER AND MATHEMATICAL SCIENCES, VICTORIA UNIVERSITY OF TECHNOLOGY, PO Box 14428, MCMC, MELBOURNE, VICTORIA 8001
E-mail address: `sever@matilda.vu.edu.au`

DEPARTMENT OF MATHEMATICS, TEXTILE FACULTY, UNIVERSITY OF ZAGREB, CROATIA
E-mail address: `jpecaric@maths.adelaide.edu.au`

SCHOOL OF MATHEMATICS AND STATISTICS, CURTIN UNIVERSITY OF TECHNOLOGY, PERTH 6845, AUSTRALIA